Estimation Exam Practice

Q1. Work out an estimate for the value of 16 x 38

70%Y0

Answer: QO )

(2 marks)
Q2. Work out an estimate for the value of 367 x 29
Lhpo > 30
Answer:_ \ L 00U
(2 marks)
Q3. Work out an estimate for the value of 27'51;918'2
S0 %70
\ O
e (9 OO
YO
Answer: é O
(2 marks)
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15.2 X 31.8
0.55

Q4. Work out an estimate for the value of

{0 x L0 _ Goo

S—

0 S O 'S

Answer: \ LoD

(2 marks)
Q5. Estimate the value of 0.0726 x 194.3281
.07 « 200
Answer: \ L"
(3 marks)
Q6. Estimate the value of 246 + 0.043
200 — 004
Answer- S_O 00
(2 marks)
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16.2 +/887.3
0.045

Q7. Work out an estimate for the value of

2.0 —+ J Sow
O- K

. 20 x5 P
(7 =08

B oA Answer-

Vo8

Q8. Work out an estimate for the value of Vies

JToo
T

Answer-

(2 marks)
Q9. a) Round 0.00374 to 1 significant figure.

Answer: O Q0 Y

(1 mark)
b) Hence estimate the value of 000574
0.0821
Qoo _ 4 L,
0-0% go ¢ ;
Answer-: e
(2 marks)
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Q10. Work out an estimate for the value of 20r — 6.43

Jial =b 70%x3 —6
it S‘ [/
=
Answer-: L’
(2 marks)
Q11. The value of the number e is approximately 2.71728.
Estimate the value of 300e + 46
FO0 =g s
- 940
Answer- 0] Q é
(3 marks)

Q12. Choose which of these sums could be estimated by the value 15:

A)2.85x 578 B)2ZX ()22 D)11.2%of 145  E) 0.029 x 487
10.76 0.028
St 30023 Q5 |oxdle OV
r:’% 10 O)° 05 = 16 _ \S
— SO
=3

——

o

Answer: —

(2 marks)
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Problem Questions:

[+ [x]
EE

Q13. a) Rana drives 74 km a week. Estimate the number of miles she
drives in a year.

706 % SO = 3§ 00

5500 vl
(2 marks)

Answer-:

b) Is your answer to part (a) an over or under estimate? Explain
your reasoning.

wnd-Ih dp, T4 —s 3

7 — So
> G Ak N Sa s et (MJAJ Yeom dpe wChnd g
Answer: W‘l""r'-f(\%r\e\,\-(,
(2 marks)

Q14. Laght travels at 186,232 miles a second. Estimate how far light
travels in an hour.

s, T gt | loo00b x 6O = (2,000 000

i~ (o min |2 000, JO0 <60 = F20,Q0 ow

/halzi o k- Schenes AJM/W‘% ot/

( ) -
A zma[ )/‘“'\'\K/‘Mj p‘/ﬁ) : I_Q/ ’2 /C)()(ix)oo —0 ,O/M/WO

;@V& (0,000)000 xfo = (-,00}000/000 &\L«S)

F 10, 000, 005 ks
(3 marks)

Answer-:
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Q15. A field in the shape of a square has an area 8752 m?. Estimate the
perimeter of the field.

Sidde Lt f(’loo; = {owm
i~ = (%30

2= IlLd

Answer-: |70

(2 marks)

Q16. Ray goes for a run every day. His route is to run from his house to the
park which is 3.4 miles away, then around the park which is 0.85 miles,
Estimate the number of yards he will run in a year.

[You are given that 1 mile = 1760 yards|
" 3 - 1 "_.'—'-'-—L(' yﬂlL’S Qéul\ ﬂ"')

; h— < Hu0 = 16gp wlt a wear (ZLS——*LIO\?)

(oo x 2ooo

= {7 o \jm}r o “yeo

g3¢ QO 00O :)(_,/d(_{
(4 marks)

Answer:
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Q17. Below is a garden consisting of a rectangular lawn with a
triangular flower bed inside it.
Work out an estimate for the area of the of the lawn.

A
2.9 feet
v
- 12.5 feet
3.4 feet 3.4 feet
«4— 1 3 < »
A
v 2.9 feet

16.2 feet

e oA e Lng*t to 4 B ~A f“mlf( al r\ow%/( -
d HW"JL’V/ é‘\&c, . 70 — T o — |k fx
. {/I\JULL/( Lmsl’(‘ ! =283 = 4 -

Flowrbod eree L (=t) = 2y e (9
/-\/{A ?é"’("’\: 70 %‘0 - 200(6
3
Arec lon 200 - ¥ = 172 #t
% I w0 >(L+\:.—Zd

AT

Answer-

(5 marks)
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Q18. a) Emma earns £11.46 an hour as a waitress. She also gets £4.78
each evening in tips. Emma works 7 evenings a work for 4 hours.
Work out an estimate for her total weekly pay.

 ox £10)e£s = s e i

I xfus = L3I
(6«— Fw Evo = £'Z§6 acQ/LzALL -

£ 718

Answer-:

(2 marks)

b) Is your answer to part (a) an over-estimate, an under-estimate or
cannot say? Explain your reasoning.

CMth Saj N W (f/l- 4} vt N P
O\~ W N N - ._’é Lk'?g L__,‘_ng.l.ao’ \v)

/

(mnole X, s
(2 marks)

Answer-:
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